






4 + 144 + 23 + 4 = 2?

A.2
B.4 
C.3
D.5
E.1



2.5, 6.5,  15.5,  31.5,  ?, 92.5 

A.58.5
B.62.5
C.56.5
D.60.5
E.48.5



( 7 × 7)5 ÷ ( 343 ÷ 7 )2 × ( 7 × 49 )3 = 
( 7 )?+5

A.7
B.8
C.10
D.12
E.NOT



6x2 – 23√3x + 60 
= 0

2y2 + 3 √3y – 15 
= 0

A. X > Y
B.X < Y
C.X  ≥ Y
D.X  ≤  Y
E.X = Y
or CND



{(𝟐𝟑𝟐𝟒 ÷ 𝟏𝟒) − (𝟏𝟗𝟔 ÷ 𝟕) + 𝟔} = 16
𝟐

𝟑
% of x

A.72
B.80
C.75
D.62
E.48



1,   7,   29,   61,   ?,   211,   349

A.130
B.121
C.133
D.129
E.135



(?)3 × 8 = 1323 ÷ {(9.261 ÷ 7)}

A.5
B.25
C.125
D.0.5
E.2.5



A bag has 10 red balls, 5 green balls and ‘x’ yellow balls. If 
the probability of drawing 2 red balls from the bag is 13/57 
more than the probability of drawing 2 yellow balls then find 
total balls in the bag?
एक बैग में 10 लाल गेंदें, 5 हरी गेंदें और 'x' पीली गेंदें हैं। यदद थैले से 2 लाल गेंदें 
निकालिे की प्रानयकता 2 पीली गेंदों को निकालिे की प्रानयकता से 13/57 अनिक ह,ै तो 
थैले में कुल गेंदें ज्ञात कीनिए?

A.15
B.25
C.20
D.19
E.30



20x2 – 71x + 63 = 
0

10y2 – 43y + 45 = 
0

A. X > Y
B.X < Y
C.X  ≥ Y
D.X  ≤  Y
E.X = Y
or CND



(196)4 × (14)8 ÷ (2744)3 = (14)?

A.6
B.8
C.4
D.3
E.7



{(7.29 × 2.7) ÷ 1000} = (?)3 × 10-6

A.2.7
B.27
C.270
D.2700
E.NOT



9,   10,   22,   ?,   280,   1405

A.65
B.56
C.58
D.62
E.69



10,      20,      41,      84,      ?,      346

A.140
B.150
C.171
D.161
E.145



(0.16)2 ÷ (0.064) x (0.4)8 = (0.4)?

A.9
B.6
C.7
D.5
E.NOT



A borrowed 20000 Rs at 5% p.a. compound interest for 2 
years from B. After that, he invests it in a bank which offers 
8% p.a. simple interest for 2 years. Find the profit earned by A
?
A िे 5% प्रनत वर्ष की दर से बी से 2 साल के नलए चक्रवृनि ब्याि 20000 रुपये उिार 
नलए। उसके बाद, वह इसे एक बैंक में निवेश करता ह ैिो 8% प्रनत वर्ष की पेशकश करता 
ह।ै 2 साल के नलए सािारण ब्याि। A द्वारा अर्िषत लाभ ज्ञात कीनिय?े

A.Rs. 1500
B.Rs. 1,250
C.Rs. 1,150
D.Rs. 1,200
E.NOT



35x2 + 13x – 90 = 
0 

7y2 + 24y + 20 = 
0 

A. X > Y
B.X < Y
C.X  ≥ Y
D.X  ≤  Y
E.X = Y
or CND



84,   166,   ?,   658,   1314,   2626

A.340
B.310
C.315
D.320
E.330



210 × (32/256) × 25 = 2? × 64

A.8
B.6
C.12
D.20
E.NOT



The ratio of the incomes of A and B is 2 : 3 and that of their 
expenditures is 1 : 2 . If 90% of B’s expenditure is equal to 
the income of A, then what is the ratio of the savings of A 
and B?
A और B की आय का अिुपात 2:3 है और उिके व्यय का 1:2 ह।ै यदद B के व्यय
का 90% A की आय के बराबर ह,ै तो A और B की बचत का अिुपात क्या ह?ै

A.1 : 1
B. 9 : 8
C. 8 : 7
D. 3 : 2
E.NOT



x2 + 8√3x + 45 = 
0 

3y2 + 36y + 60 = 
0

A. X > Y
B.X < Y
C.X  ≥ Y
D.X  ≤  Y
E.X = Y
or CND



{(1.44)0.5 + (625)0.25} ÷ 2 = (9 .61)?

A.0.2
B.0.05
C.10
D.2
E.0.5



4x2 + 17x – 15 = 
0 

6y2 + 19y – 20 = 
0 

A. X > Y
B.X < Y
C.X  ≥ Y
D.X  ≤  Y
E.X = Y
or CND



161.75 × 40962.25 ÷ 256-2 =   16?

A.12.25
B.14.5
C.14.75
D.12.75
E.NOT



Aman sells an article to Vimal at a profit of X%. Vimal sells the 
article back to Aman at a loss of (X - 10)%. In this transaction 
profit of Aman is 12%. Find the value of X?
अमि नवमल को X% के लाभ पर एक वस्तु बेचता ह।ै नवमल वस्तु को वापस अमि को (X 
- 10)% की हानि पर बेचता ह।ै इस लेिदिे में अमि का लाभ 12% ह।ै X का माि ज्ञात 
करें?

A.10
B.20
C.30
D.40
E.50



There are 90 students in a class out of which 70% are from village A 
and others are from village B. The average score of students from 
village B in a test is 20% more than that from village A. if the average 
score of all the students is 53 Then what is the average score of the 
students from village B?
एक कक्षा में 90 छात्र हैं नििमें से 70% गााँव A से हैं और अन्य गााँव B से हैं। एक 
परीक्षा में गााँव B के छात्रों का औसत अंक गााँव A से 20% अनिक ह।ै यदद सभी का 
औसत अंक छात्र 53 ह ैतो गााँव B के छात्रों का औसत अंक क्या ह?ै

A.54
B. 60
C. 64
D. 50
E.NOT


